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１，角の２等分線の辺と比の性質 
 

㎰ ㈻  

 

 
ッ  

㎰  
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

! 

OA
6
:OB = A

6
A
12
:BA

12

! 

OA
6
:OB = A

6
A
12
:BA

12

O 

A  

A12 

B 



 2 

 
 

 

! 

BO

BA
12

! 

OB

BA
6

! 

OA
6

BA
6

 

 
 

 

! 

BO

BA
12

= +
 

! 

OB

BA
24

= +
 

! 

OB

BA
48

= +
 

! 

OB

BA
96

= +
 

 

! 

OB

BA
96

┘ み  

 

! 

2"
96
# BO = 96 $ 2BA

96  
 



 3 

 

２，外接正多角形を基にπの近似の公式を導いてみよう！ 
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＜内接正多角形を基にした公式＞ 
 

! 

"
12

=
12

2
# 2 $ 3

 

 

! 

"
24

=
24

2
# 2 $ 2 + 3

 

 

! 

"
48

=
48

2
# 2 $ 2 + 2 + 3

 

 

! 

"
96

=
96

2
# 2 $ 2 + 2 + 2 + 3

 

 
 
 
 
 
 
 
 
 
 

一日目の公式 



 8 

 

! 

1351

780
> 3 >

265

153
み

み ┘

! 

3

! 

3

ぜ  
 

! 

265

153
< 3 <

1351

780
ッ  

! 

A = a
2

+ b (b > 0)

A = a + c (|c |<1)
 

っ  

! 

A = a
2

+ b = a
2

+ 2ac + c
2

> a
2

+ 2ac

b > 2ac

c <
b

2a

A = a
2

+ b = a + c < a +
b

2a

" a
2

+ b < a +
b

2a

 

! 

A = a
2
" b (b > 0)

A = a " c (|c |<1)
 

 

! 

A = a
2
" b = a

2
" 2ac + c

2
> a

2
" 2ac

"b > "2ac

c >
b

2a

A = a
2
" b = a " c < a "

b

2a

# a
2
" b < a "

b

2a

 

 



 9 

! 

a
2

± b < a ±
b

2a
 

 

! 

A = a
2

+ b = a
2

+ 2ac + c
2

< a
2

+ 2ac + c

b < (2a +1)c

c >
b

2a +1

A = a
2

+ b = a + c > a +
b

2a +1

" a
2

+ b > a +
b

2a +1

A = a
2
# b = a

2
# 2ac + c

2
< a

2
# 2ac + c

#b < #(2a #1)c

c <
b

2a #1

A = a
2
# b = a # c > a #

b

2a #1

" a
2
# b > a #

b

2a #1

 

! 

" a
2

± b > a ±
b

2a ±1
 

 

! 

a ±
b

2a
> a

2
± b > a ±

b

2a ±1    

 

! 

3  

! 

2 "
1

2 # 2
> 2

2
"1 = 3 > 2 "

1

2 # 2 "1

7

4
> 3 >

5

3

 

 

㎰  

 

 

 



 10 

! 

1

3
(5 +

2

5 " 2
) > 3 =

1

3
5
2

+ 2 >
1

3
(5 +

2

5 " 2 +1
)

26

15
> 3 >

19

11

 

㎰  

! 

1

15
(26 "

1

26 # 2
) > 3 =

1

15
26

2
"1 >

1

15
(26 "

1

26 # 2 "1
)

1351

780
> 3 >

265

153

 

 

! 

3 >
265

153
 

! 

"#

#$
>
265

153
 

 
 
 
 
 

 


